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Missing Code  Number of apperence Missing Code  Number of apperence

1 7674 254 0

2 0 256 0

4 0 258 0

6 0 260 0

8 0 262 0
10 0 264 0
12 0 266 0
14 0 268 0
16 0 270 0
18 0 272 0
20 0 274 0
22 0 276 0
24 0 278 0
26 0 280 0
28 0 282 0
30 0 284 0
32 0 286 0
34 0 288 0
36 0 290 0
38 0 292 0
40 0 294 0
42 0 296 0
44 0 298 0
46 0 300 0
48 0 302 0
50 0 304 0
92 0 306 0
o4 0 308 0
56 0 310 0
58 0 312 0
60 0 314 0
62 0 316 0
64 0 318 0
66 0 320 0
68 0 322 0
70 0 324 0
72 0 326 0
74 0 328 0
76 0 330 0
78 0 332 0
80 0 334 0
82 0 336 0
84 0 338 0
86 0 340 0
88 0 342 0
90 0 344 0
92 0 346 0
94 0 348 0
96 0 350 0
98 0 352 0
100 0 354 0
102 0 356 0
104 0 358 0
106 0 360 0
108 0 362 0
110 0 364 0
112 0 366 0
114 0 368 0
116 0 370 0
118 0 9 372 0
120 0 374 0
122 0 376 0
124 0 378 0
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Missing Code  Number of apperence

Missing Code Number of apperence

254 0
2 0
4 0 256 0
6 0 258 0
8 0 260 0
262 0
10 0
264 0
12 0
266 0
14 0
268 0
16 0
270 0
18 0
272 0
20 0
274 0
22 0
276 0
24 0
278 0
26 0
280 0
28 0
282 0
30 0
284 0
32 0
286 0
34 0
288 0
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290 0
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292 0
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294 0
42 0
296 0
44 0
298 0
46 0
300 0
48 0
302 0
50 0
304 0
92 0
306 0
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308 0
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310 0
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312 0
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314 0
62 0
316 0
64 0
318 0
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320 0
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322 0
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324 0
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Missing Code  Number of apperence Missing Code  Number of apperence

2 0 256 0

4 0 258 0

6 0 260 0

8 0 262 0
10 0 264 0
12 0 266 0
14 0 268 0
16 0 270 0
18 0 272 0
20 0 274 0
22 0 276 0
24 0 278 0
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34 0 288 0
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42 0 296 0
44 0 298 0
46 0 300 0
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Missing Code  Number of apperence Missing Code  Number of apperence
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114 0 368 0
116 0 370 0
118 0 923 372 0
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122 0 376 0
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Missing Code  Number of apperence
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4 Summary

4.1 Simultaneous changes

ENOBS for common currents variations
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Missing codes for common currents variations (number) Missing codes for common currents variations (min value)
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100 kHz 3 MHz 10 MHz
IO ['U'A]7 Il = 0610 THlow [V] Tthgh[V] THlow [V] Tthgh[V] THlow [V] Tthgh[V]
1 -0.1118 0.1222 -0.1127 0.1208 -0.1129 0.1218
2 -0.1113 0.1221 -0.1127 0.1212 -0.1127 0.1218
3 -0.1112 0.1216 -0.1135 0.1211 -0.1137 0.1218
4 -0.1118 0.1215 -0.1137 0.1217 -0.1128 0.1216
5 -0.1118 0.1219 -0.1136 0.1217 -0.1139 0.1217
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Missing codes for Ib0 150uA Ib1 var. (number) Missing codes for Ib0 150uA Ib1 var. (min value)
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100 kHz 3 MHz 10 MHz
Il [UA] THlow [V] THhigh [V] THlow [V] THhigh [V] THlow [V] THhigh [V]
1.0 -0.1123 0.1210 -0.1145 0.1201 -0.1142 0.1197
2.0 -0.1114 0.1224 -0.1134 0.1212 -0.1133 0.1214
3.0 -0.1112 0.1216 -0.1135 0.1211 -0.1137 0.1218
4.0 -0.1127 0.1218 -0.1132 0.1207 -0.1144 0.1205
5.0 -0.1122 0.1213 -0.1143 0.1197 -0.1150 0.1202
6.0 -0.1128 0.1213 -0.1143 0.1194 -0.1152 0.1197
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Codes number

Missing codes for 1b0 var. Ib1 90uA (number) Missing codes for b0 var. Ib1 90uA (min value)

%0 =100 KHz —+— 1800 =100 KHz ——
f=3 MHz 1600 - i JE3MHZ o &
f=10 MHz - f=10 MHz -
40 1400 e
@ 1200 :
30 )
= 1000
. § 800
é 600
10 *\17777777 I 400
200 e R e
0 50 100 150 200 250 300 0 50 100 150 200 250
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100 kHz 3 MHz 10 MHz
IO [UA] THlow [V] THhigh [V] THlow [V] THhigh [V] THlow [V] THhigh [V]
1.0 -0.1125 0.1218 -0.1116 0.1221 -0.1137 0.1210
2.0 -0.1120 0.1221 -0.1129 0.1211 -0.1129 0.1217
3.0 -0.1112 0.1216 -0.1135 0.1211 -0.1137 0.1218
4.0 -0.1125 0.1225 -0.1129 0.1214 -0.1131 0.1216
5.0 -0.1121 0.1216 -0.1136 0.1204 -0.1138 0.1202
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